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COMMON THIRD SUMMATIVE EXAMINATION - 202

C “Standard VIl Regho. >
MATHS
Time : 2.00 hrs ' . s - Marks } 60
I. Choose the best answer; 1" mE 10x1=10
1. 104083 = . 11 a1
a) 0.17 '.1b) u?1 A nmﬂﬁ ; | d) 1.38
2 50+05m : LAl - A
a) 114 b) 104, | 0% ) )04 oy m/*lll.z
3 Thnpﬂmnugunl'-ﬂh :
3) 047%,, . ATHR, . c)4T% df 470%
4. The Intmﬂ for e pnndplu of T4 Eﬂﬂ wh glves an amoynl of ¥5,000 at end of certaln
period g ' '
b) 200 c) 20% d) 15%
5. fa+b=Sanda’+b?=13,thenab=? . [
3) 12 b 05 R
.8, The solutions of the Inequation 3 <P < 8 are (where P-ls @ natural ber)
o) 4,5and6  b) 34and5 . c)j4and5 a45and B
7. A is a flip over a line. ; A el !
a) tranelation b) rotation qﬂacuun "1 " d) glide reNection
B. The mean ufﬁstﬂn;;rjfw'n numbersls ' / _
a) 4 ' 6 . c)5 idy 10

9, Find the mode of dats 3,6,9,12,15

a1 . b) 2 )3 » de’/’n'l-nﬂn

10. The medlan of the data 24, 28, 34, 38, 33 lﬂdSﬂlu d)/f

g) 29. b) 30 c) 34 i)
Il. Fill In the blanks. Snim$
11. 208x10=_20.8. l,

12. The decimal form of 58% is 0.5 & | |
13. 1) x(2.=_2.9 . , l
14. The mode of the data2,1,1,34521s_ 1, 2 *
15. The median of first 8 odd natural numbers is

lil. Match the futlmrlnn ; Sxias
16. 0.51+025 0 —5 b spsien

17. Simple |nterest Width of circular ring —4-

18. (P+2)(P=2) = , 076 —_—)

19. ry—13 : Pl-4 ____ 1

Pnr *
20. Average of 30 and 50 T y Bl
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+ R1. Euhlrlclﬂﬁﬂ?frmiih Ltli'lqplacavnlmnﬂd
22, Findlrmpruductni'ﬂlllﬂ?_} = 'la.Rob

23, Wrnu 50 illhmunlnnl_ -

24. Writa tha Pl!n'.'ll'l'lnga 120% as denimnl -
25. Simplify (x + 3) {: + ﬁ] unlng Haﬂl!hl'
26, Expand (b-7)2°

b2 Gl% ey
5% Q2 lle® L

el
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+'I RS | ""b -\‘*'E'*"‘""*"?

|

VIl Maths
s Te2=14

27. The mean of B cbservations Is 24, Find the sum of the B observations.

28. Find!hnmadhnufiﬁﬁﬁmﬂaﬂ |
29, Fhﬂmnmadnnnﬁuu:ﬂuﬁmda
0. H'ﬂmi:ramﬂrmuihnmlrr?

_ V. Answer any seven questions. iy y

3. Find the Purimutuf of an equllateral Irlanglla- wtth a s!de rrhaaiuﬂnn 3 8 l:l:l"l.

*

B, ofis, 1] v5, 30 e ' e

1,2.2,2. 3 23, s‘-‘;bfﬁhh 22,345
! L

-
T:!-ll

Zlhﬂmlafuhahynyﬁumumﬂfmlnmumm
tion. Find tha di t
mmmﬂa g : 8 slannemrt r

33, The cost

of 28 booka ar £1,506.4, Find the cost of e book.

M. H.im;nh s lotal hmu was U7, 500, Ha saved 25% of his 1n1al income, Find the amount

sa\rudh'fhlm. :
35. In lvillagu'm 5%

are literale. E:q:u'ua asa duulmnl

38. In whal time will ¢ E-m'.iamnunih}lﬁ?'zu et 6% p-urlnnurn?
\37. Find the product of (4x + 3y) | (4x + 5y) using the Il:luntitr
38. Factorise ﬁu@ﬂr 100 |
39. If the mean of the numbers is 38. Flndthavalueul‘:
' 45:31'35?5*213534334933 . Y e

40. Find tha ma:rnn of the 10 observations 38, 33 45{

P r

EE.’ 38,45, 54']23 56, 25. Ifanuu'lar

obsarvation 35 is added to the nhmre data, whm would be Ih-n nuw madf-an?

VL Anawer lnfml [ . 3
41. 3) Draw the circle of radius t= 4cm.
1
" (oR)
b) Draw lc circles for the following measuremants - i
r=3cm

e
=
-

¢ r-l.'._'rl:m. l:‘;l _f.r . !
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